Fill in the blanks to complete the sentence.

Express the magnitude of the following numbers using inequality signs.

, X% a
x a re ro)
7 (7
! A ‘ (square root)
a o
0 0

12 V1
2? Va
3? Vo
42 V16
57 V25
Find the value of the following expression.
10 5
square root of 10
vi10 , 10
36 9
square root of 36
v36 6, 136 6
64 16
positive square root of 64
V64 8
100 25
negative square root of 100
100 10
(Vi) (viz
7

Vo, V12 V25 | V24
9 12

Vo V12~

4, V15 6, V35
a2 16, (V5 )° 15

4 V15

VB, VB vB ., VO
5 6

V5 Ve

3, VB 4, VAT
32 9, (v8 ) 8

3 V8

1

Find the following value to the first decimal place.

V3 1 V10 1

1.82  3.24
1.72 2.89

1.7 /3 1.8
V31T

1.7 1.8
x 1.7 x 1.8
119 144
17 18

289 3.24




)

Fill in the blanks to complete the sentence.

e (deffrernt)
Check the following expression.

X () a
2 V144 /Bl #./225 V16 9 =425
, a
””””””””””” 12 9 = 25
X a (square root)
a VA00 /144 =256 | /100 /36 =64
777777777777777777777 ! 20 12 = 16
,,,,,,,,,,,,,,,,, VBl /Bl 24/81 VA 4 244
0 0 9 9 2x9
2
ffffffffffffffffff | Vi1 /1 31 VA A A 3.4
12 '/ L1
o coooooo 1 1 1 3 x1
2? W/ 2
, T 4436 /36  5./36 216 V16 316
3 Y 3 3
i el 4x6 6 5 x6
42 Y 4
449 5,0 9,9 2v/25 425 64/25
Find the value of the following expression.
4 x3 5 x3 3 x9
! 6 4481 Bl 34081 39 VO 2,0
square root of 7
Vo,V 4x9 9 3x09
25 49 5164 21/64 3164 6+/49 4+/49 21/49
square root of 25
V25 5, V25 5 5 x8 2x8 3 x8
. VA x+/25 /100 VA4 x1/16 /64
Find the following value to the first decimal place.
2 x5 10
a Ve 1 VA x4 16 Vax+@  \BL
2 x2 4
22 4, 32 9
V36 =v4 9 V16 =v4 /4
2 6 3
6 — 2 3
2.2% 4.84
32 &9 V144 =\/4 /36 V64 =+/4 /16
22 6 2.3 12 =2 6
V3 2.2 3v4 x40  12,/36 3v/4 x2.16 664
3 x2 x4 %x3 12 x6
2.2 2.3
x 2.2 x 2.3 (\/9— )2 9 (\/4_ )2 4
44 69
44 46 32 9
484 529




Fill in the blanks to complete the sentence.

Find the following number by prime factorization.

x 2 () a
, X2 a
x a are o)
a o
,,,,,,,,,,,,,,,,, Va .
,,,,,,,,,,,,,,,,, .
o
2
el o~
s R
s O
P &
Find the value of the following expression.
5 6
square root of 5
VB, VB
25 36
square root of 25
V25 5, V25 5
1
Find the following value to the first decimal place.
V3 V2
12 1, 22 4
1 V3 2
1.72  2.89
1.8%2 3.24
1.7 +/3 1.8
V31T
1.7 1.8
x 1.7 x 1.8
1109 144
17 18
2.89 3.24

V1764

N—
—_

~N w o w NN
N oo |~
|| |O|>
~N|lo|~N— N A

V1764 1/2x2x3x3x7x7

2 x3 x7 42

V1225

e (deffrernt)
Check the following expression.

V36 /b4 #=4/100 VO V16 =425

6 8 = 10
V400 /144 =+/256 V169 144 =./25

20 12 = 16
v/100 /100 2 +4/100 V16 /16 2416

10 10 2 x 10
4+/49 /49  5./49 3V V9 49

4 x7 7 5 x7
VA x/16 /64 VA x /25 /100

2 x4 8
Vb4 =/4 /16 V36 =4 9

8 -2 4
Viad =& /36 Vo4 =4 /16

12 = 2 6
5v4 x1/9  5./36 3v/4 x /16 3.64

5 x2 x3 5 x6

(v36 )* 36 (V81 )} 81

62 36




Fill in the blanks to complete the sentence.

Find the following number by prime factorization.

x 2 () a
X2 a /4356 /3025
X a (square root) 2 )4 8 56
2 2 1 7 8
a 3 1 0 8 9
777777777 3 3 6 3
77777777777777777 va 11 ; 1 21
\/;; 1 1
o V4356  4/2x2x3x3x11x11
2 2x3x11 66
2§ 1 / 1
777777777777777 ' 7777777777;7”” n ¢ "
2 L4 Vv 4 Check the following expression.
29 Ve oo
P U L VBl 144 #+/225 V36 /B4 #=4/100
4 vie
”””””””” 9 12 = 15
5° vVas
_ _ _ V169 (/144 =,/25 V400 /256 =./144
Find the value of the following expression.
13 12 #= 5
7 8
square root of 7 v8l1 /81 2+4/81 v25 /25 24/25
VT, VT 0 9 5 %0
49 64
square root of 49 44/36 /36  3/36 6v4 4 54
V49 7, V49 7
4 x6 6 3 X6
o _ - VA x+/64 /256 VA x/16 /144
Find the following value to the first decimal place.
2 x8 16
vz Vi
V144 =+/4 /16 V36 =4 /9
12 1, 2% 4
8 = 2 4
1 2 2
1.42 1.96 V144 =\/4 /36 V144 +=1/9 /16
152 2.25 12 = 2 6
14 V2 15 3VE x 16 3vEd | 2V x 36 2/l
V2 L4 3 x2 x4 3 x8
1.4 1.5 5 5
x 1.4 x 15 (v25 )* 25 (vie ¥ 16
56 75
14 15 52 25
196 225




)

Complete the multiplication table.

Calculate the following expressions.

1 2 3 4 5 6 7 8 9
1 1 2 3 4 5 6 7 8 9
2
3
4
5 45
6
7
8
9
Calculate by addition.
7x%x3 7 x4
7 7 7 21
7x5 7x7
21 7 7 35
77777 Fill in the blanks to complete the sentence.
x 2 () ) a
, X2 (xxx)a
X a (square root)
12 1x1 V1
22 2x2 Va
3% 3x3 Vo
42 4x4 V16
52 5x5 V25
6° 6x6 /36
2 x 49 V49
2 x 64 V64
4’ 9’ : L) L) L) 3’ 64’
(2 )

V9 V16 V36 64
3.4 7
Vo Vo Va VA
33 6
V2 x/8 V3 %112
Vvie 4
V18 =2 2x9 18| VB =2
Vo3
V4 x\/9 Va4 x /25
V36 6
2 x3 6
VB4 =4  axi6 64| V16 =4
Ve 4
8 + 2 4
Simplify the following expressions.
V12 V20
V4 x3 23
V24 V28
V4 x6  2v6
V18 V27
9 x2 32
V45 V63
9 x5 3v5
V48 V32
V16 x3 43
V96 V00
V16 x6 46
Rationalize the denominator.
1 1
V3 vl
1 x V3 V3
V3 x /3 3




)

Fill in the blanks to complete the sentence.

Simplify the following expressions.

V12 Vax3 Vays V8
2 V3
V24 ixe VAE V28
2 V6
VA0 Vax10 aAyio V20
2 V10
V27 ox3 8VE %r)
33
VA5 ox5 Vo5 V63
35
V90 /ex10 A yio V99
3110
V32 Vi6x2 V6VZ V48
42
V96  VI6x6 VI6VE V80
46
V75 V25x3 VB3 V50
53
V200 I00xZ /100 v2 300
10 v2

, X2 a
X a (square root)
12 V1
2? Va4
3? Vo
42 V16
5° V25
6° V36
4! 9! 3 7777777 L L Yo 1l 64!
(2 )
(square number)
vkla  kva
Find the value of the following expressions.
8 6
square root of 8
v8 , 8
81 16
square root of 81
v8l 9, /81 9
3 5
negative square root of 3
V3
3 5
positive square root of 3
V3
V36 62 V/49
6
V25 B2 V64
5
v1oVA2 V81
1
VO Vo2 100
0

2 \/b_ \/C_ Convert an expression of the form a /b to +/c.

2v3 VA3 27
Vi2o

28 Va8 24
V32

3v3 VB vE 3va
V2T

43 V16 V3 42
\/ﬁ

5v3 V253 5v2
V75




2

)

Find the value of the following expressions. 3 Simplify the following expressions.
Vi oViz V16 2 /24 2418
1 2 x2,/6
2
VA 2 V25 /6
2
N a V36 3+/24 28
3 3 x2v6
Simplify the following expressions. 6\/6
320 3v28
V24 V8
3 x 2\/5
Vixe VEVE
6v/5
2 6
V54 V18 a /b \/c_
Convert an expression of the form a \/E to \E
Vax6 V96
345 2.3 28
/96 V32 Va4 V3
VI6x6 V166 V12
46 26 2 V12
150 /50 Va6
V25 x6 V56 V24
5 V6 3410 38
VAXS  VEVE o
246
37 3v4
/45 V27
Ve VT
NN
/63
345
45 4 /10
VB0 V48
V16 5
V16 x5 /16 /5
/80
4 45
500 700 43 4v2
V0 X5 1005 V16 V3
10 V5 V48




3

)

Find the value of the following expressions.

V25 B V36
5
VIS Vi Vas
4
Ve VE Vea
3
VB VE VBT
2
v1oVA2 100

Simplify the following expressions.

Vi2© Vaxs vavE V8
2 V3
V24 Eixe Ak V28
2 V6
VA0  Vax10 Vayio V20
2 V10
V2T Vox3 83 %r)
33
VA5 x5 VB V63
35
V90  /ex10 B Vi0 V99
3 V10
V32 ViEx2 Vi6vZ V48
443
V96  Vi6x6 VI6VE V80
46
V75 VBx3 V53 V50
5 3
V200  yi00x2 /100 v2 300

10 v2

Convert an expression of the form a Vb to v/c.

2v3 VAR s
Vi~
2V Vae 28
V24
20 VAA 2 V1o
V36
YaRaa 3 VA
V2T
3v6 VAWVE 38
V45
3vio Vo1 3vi2.
V90
4v3 /163 42
N/TR
48 V168 445

128

Calculate the following expressions.

V6 x+/10 V6 xv8
VB0 VA XIS

2 V15
212 x+/6 2v3 x6
2v/12 244 x3

2 x 2,3

43
2v2 x3+2 26 x5.6
6v4 6 x2

12
3v2 x2+8 32 x24/18
6/16 6 x 4

24




Calculate the following expressions. a \/b_ \/C_
Convert an expression of the form a Vb to v/c.
4 x2 9x2 16 x 2
4 x3 9x%x3 16 x 3 2\/3_ \/4_\/3_ 2\/5_
V12
4 x4 9x 4 16 x 4
2v6 Va6 247
4 x5 9x5 16 x5 V24
4 x6 9% 6 25 x2 3\/2_ \/9_\/2_ 3\/3_
/18
4 x7 9x7 25 x 3
4.2 162 4.3
4x8 9x 8= @ 25 x4 V32
2 V2 2
@4x9 = @9x9= @ 25 x5 5v2 5v2 53
/50
Simplify the following expressions. 6 \/2— \/?K\/Z_ 6 \/3—
VB VAXZ VAT V12 V2
72 49 /2 73
L V2 VA vz VB
V98
v20 ax5 4.5 V24
8v2 B4+2 813
246
128
V18 ox2 92 V27
3 \/2_ Calculate the following expressions.
4 x 4
vaS VExs eE Ve V3 x+/15 V3 x+/6
35 V45 V9 x5
2 x 4
V3 VI x2 /162 /48 3 \/5—
4 /2
242 x4/10 2v2 x+/14
v50 /25x2 /252 V15
2v/20 2v/4 x5
5 V2
2 X 2\/5_
V28 Vax7 AT /63
4 5
2 VT
26 x 3410 2v2 x5.6
v99  VOx11 911 Va4
6150 625 x 2
3 V11
6 x5v2 302
v80 16x5 41645 V125
4 5 V32 = VA VIO =+ 2
v/500 100x5 +/100 /5 /700 V'8 Va4 x2
10 v5 2v2




)

Simplify the following expressions.

Calculate the following expressions.

V20 Vaxs VivE VB NN /3 2
25 N Y
VA5 ox5 95 %r) 3,5
35 V80 /45 V32 418
VB0 V16x5 1645 V32 45 35
4 5 V5
V24 VEXE VA6 Vi2 V24 246 2v2 VB
2 V6 2v6  2v6
VB4 ox6 o6 V2T 0
36 VB EE VB ag
V96  VIEx6 V66 V48 Ve 36
46 2v6
Calculate the following expressions. Calculate the following expressions.
N/ VO Ve Vo 2x4/3 3x+5
2 V4 23"
2 x2 4
2V& VA = wa | 38 B VA xy/4 VT X VT
3v/4 vie 4
2 f VA x5 Vo X3
2VA 344 =2 39vE | 340 4.9 -
5v/4 ) /5
5 x2 10
2\/2_ x3\/ﬁ 4\/2_ x2\/6_
2V VA =@ W | 2v8 0 B
61/20 6 x 25
VA
1245
2
54 34 =( Vi | 6416 2416 ves vz VB4 =2,
i \/48
43
2 x2 4
2VE 3VE 2@ E | 345 4vE 2v40 =v2 3V54 +v3
A 2v20 2 x 245
45

2




2
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Calculate and simplify the following expressions.

Calculate the following expressions.

V2 x+/32 V3 x 27
Vo4 /e
8

V2 x 6 V3 x 6
V12 Vax3
23

VA x /12 VA x /8
V48  Ji6x3
443

V3 x4/15 V3 x421
V45  ex5
35

VBI = V2 V2h + B
V21 ex3
33

VA0 =+ /2 Vo6 + 3
V20  Jaxs
25

ViSO + vZ VBE = 3
V80  J/i6x5
45

3v2 x4/10 23 x8
3v/20  3.&xs5
6 V5

32 x 2 23 x 3
34 3x2

R Ve B Ve
216
2v6 36 =2 3)y6 | 3v6 46
516
26 VB =2 1)vE 3v6 Ve
3v6
7V6 46 =(7 46 76 2.6
3v6
Ve 3v6 =1 36 2v6 56
2v6
Calculate the following expressions.
V3 veT V2 B
V3 3v3
43"
V2 V3 vie vz
2v3 V3
\/3_
Va8 23 V20 245
43 243
2v3
V2 Vas N
2v/3 43
2v3
V3 V12 V80 V20
V3 2v3

3v3




)

Simplify the following expressions.

Calculate the following expressions.

V24 Vixs VavE V12 V10 /80 V20 B0
2 V6 JI0 3,10
VB4 Vexs Vo V63 410
3v6 V72 8 V48 12
V28  Vax7 a7 V20 6v2 2v2
2 VT 42
V32 VX2 V162 V80 V20 5 V18 2
42 2v5 5
VT2 J%x2 V362 V8 V5
6 V2 V3 V2T V10 440
V200 100 V2 300 V3 33
10 v2 2v3
Calculate the following expressions. Calculate the following expressions.
VA V& A V35 V25 5x V2 4x 3
3V4 5v/2
3 x2 6
3V8 VB <G 05 | 3116 VA6 V3 xv3 Ve x5
e Vo3
4 x 3 12 \/ZX\/E \/Q_X\/]T
2vV4 34 =(2 3ya | 340 409 .
V4 2 V10
5 x2 10
3v2 x26 43 x216
2V VA =@ W | 2v8 0 B
612 6 x 2¢/3
VA
123
2
54 34 =(5 i | 616 2416 Ve vz V2 =V3
\/28
24
2V7
2 x2 4
2VE 3va =2 Wi | 348 48 2vB =v2 3V V3
e 2v4 2 x2
4

2




Find the value of the following expressions.

)

Check the following expressions.

Vo vE vae Vo VIB =78 V36 /BE /100
3 3 4 = 5
V16 vaxa # vea V169 144 #£./25 V400 /144 #=+/256
5 13 12 # 5
V5 /ES V100 VA x\B V36 Va <25 /100
5 2 x3 6
‘/22_5 vIsx15  y1s? ‘/M Calculate the following expressions.
15
Simplify the following expressions. Ve VB vis V18
2vV2 242
V24 EixE a6 iVl 442
2 V6 N Vo
VA0 VAo V20 ST i
2 /10 W
VI8 VoxZ iz V2T
3.2 V2 B Va8 12
VA5 G5 V180 6v2 2v2
345 42
VA8 \I6x3 I6V3 V80 VT A B o
‘s 23 VB
VB0 VBx2Z VBVZ V75 i
52
VIBO VRS JEVE | VT vios Vs 0 Ve
6 B VRV
VOB ik Jisr | JED e
72 300 /75 600 /24
V300 vioox3 vioovs | /600 103 53
10 V3 513
VA0 Ax10 Va0 V360
) T 450 /50 180 /80
VAOS \BTX5 BLV5 150 1By2 52
5 /5 10v2




)

Calculate the following expressions.

VE xVE  VE | VB xR
4
VI xVT VE | VB xiB
7
23 x3 2% 442 x+/2
2 x3 6
ViZ + 6 V75 + 15
V2o
46 + V3 215 + 3
42
Calculate the following expressions.
1 V5 1 il
N VTV
5
5
2 V6 2 V10
NI VIO VIo
2v6 V6
6 3
V2 x V3 V6 x v2
VB % 3 VZ X 2
V6
3
1 x V5 1 x V7
26 x 6 247 *x T
Vi A
2 x5 10
5 ><\/5_ 3 ><\/3_
25 x 5 23 x 3
56 5
2 x5 2

1 1
V3 V10
1 x 3
EER
V3
3
2 _2
V12 VB
2 x\/12_
Vizw x 12
212 V12~
12 6
23 V3
6 3
3 3
23 26
3 x V3
2v/3 % 3
3v3 V3~
6 2
23 543
V3 V15
23 x VB
Ve X b
21/18 V18
6 3
3\é2_ i




—
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2
Calculate the following expressions.
V2 xvE VEZ | VB xB
2
V6 x5 v V3 x+/3
5
216 x6 26 43 x+/3
2 x6 12
V12 = 4 VA5 + /15
V3
46 + vz 5v15 + 5
43
Calculate the following expressions.
1 V6 1 V5
NG N
Ve
6
6 V3 18 V6
Vi Va Ve VB
613
; 2v3
V3 x V2 V3 x VT
V2 X 2 VI X VT
\/6_
2
1 x V2 1 x V3
22 x 2 243 x /3
Vi 2
2 x2 4
\/3_ x \/5_ \/2_ X \/3_
2v6 % 6 2v3 x V3
V15 V15

N
X

(2]
—
o

Rationalize the denominator of the following expressions.

1 1
VT Vis
1 x /1

VT X

N

7

4 6

VB Vi2
4 x /8

VB X B

“WB /B

8 2

2\22_ N

2 3

3v2 23
2 ><\/2_

3v2 x V2

2v2 V2

6 3

3v2 512
V3 V10
3v2 x V6

VB Xk

3v12 V12

6 2

2\43_ v
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Calculate the following expressions.

1 x\/7_ 1 X\/lT 1 x\/ET 1
VIVT V1T V11 Vs VB V13
\/7_ 5

7 5

2 V6 5 V10 7 Via 5
Ve V6 V10 /10 Via V14 V15
26 VB Wi J1d

6 3 14 2
Vi A Vi T N
N VS Vo 3
Ve V21

3 7

3 V3 2 V2 3 V6 2
2v3 3 3v2 42 46 V6 310
3v2 V2 36 6
2 x3 2 4 x6 8

V5 F V2 \E VBT V&
2v6 V6 25 5 2vT VT 23
VO v VBB
2 X6 12 2 x7 14

4 V8 6 V12 5 V20 6
VB VB iz iz Vo V20 Vi
48 /B 5,20 V20

8 2 20 4
22 S 25 V5

2 4 2




)

Find the value of the following expressions.

Vie Va2 V25
4

VO VR V36
3

VA V2 VA9
2

VioViZ VO
1

Simplify the following expressions.

VB Vaxz Viz
2 V2

V20 \Ax5 V24
25

V28 EXT VA0
2 VT

V18 Vex2 V2T
3 V2

V32 ViEx2 V48
42

VB0 y25x2 V75
52

VT2 \36x2 V32
6 v2

Check the following expressions.

V36 /64 #£,/100 VO V16 #=./25

6 8 = 10

V100 /64 =1/36 V25 /16 =0
10 8 = 6

VO Ve 2V Vi6 V16 216
3 3 2x3

3va VA 2va 3v25 V25 225
3 x2 2 2 x2

VA x\B /36 VAx /16 \6a

2 x3 6

Va6 =B VA VIOO +vA V25

6 = 3 2

Calculate the following expressions.

V3 xV6  vaxe V3 x8
Vs 3v2
V6 x5 Exs VT xAT
V25 5
V24 =3 ya=3 | Bh =2
Ve 22
V24 =6 ya=o V75 +4/3
Va2
32 x4+/8  3x4x /2x8 2VA %249
12116 48
A% N A%

Ve 242

Calculate the following expressions.

YRRV viz 21
2v2 342

5 V2
V2 B V3 V12
V2 22

3v2
Vis 8 V2T V12
3W2 242

\/2_
Vis B 2 V2T V12 VB
3v2  2v2 V2

0
2v8 V18 2V2T iz
2 x2y2 342

V2

S D B S G
V2 V3

5 x4/2

V2 x/2

Alzi




2 () )
Find the value of the following expressions. Calculate the following expressions.
Vas i V36 V3 x\B  Vixs V3 x6
! V24 2 b
V25 VB V16 V8 x+/8 Bx8 V10 x+/10
5
/64 8
9 2 A
\/_3\/3_ VA VB4 =2 =12 V24 2
V27 3 V3
Vo VF VT v
0 V5 =3 5= 3 V24 +\/3
V25 5
Simplify the following expressions.
3\/4_X2\/9_ 3x2x 1/4x9 4\/2_x2\/8_
61/36 36
V12 Jax3 V8
NS _ /56
V24 ax6 V20 V18 342
2 6
Calculate the following expressions.
V32 Viexz V80
4 /2
Ve VA iz V2 B
40 x 28
v e Ve i 2 vE
2 10
V27T Jax3 V00 33
W V12 V27 YCRERVEE
VA8 16 x3 VA5 2v/3 343
43 5 v3
V75 V25x3 V50 V12 /3 Vs V2
5 V3 2v3 V3
e Vi
Check the following expressions.
V2T V12 V3 vie V8 2
VB V16 =425 V36 B4 #=4/100 3v3 243 3
3 4 #5 0
V25 O =16 V100 /64 #+/36 212 V27 28 18
5 3 = 4 2 x2/3 3.3
5v0 1O 4.0 3v16 16 2416 V3
5x3 3  4x3 VT ( ) VT ( )
VB vz
VA x+/16 /b4 VA x+9 /36
) VT %3
2 x4 8 \/3—x\/§
V36 +vE V100 +v25  a
V21
6 + 2 3
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Find the value of the following expressions.

VioVaz VA
1

Vv Vo
4

V36 6 V25
6

VBl o7 v
9

Simplify the following expressions.

V20  Vaxs Viz2:
25

V28 VAxT V24
2 VT

V00 /ox10 VA0
3 /10

VB3 exT VB4
33

V80 Vi6x5 V32
45

V150 /25 x6 125
56

Check the following expressions.

144 /256 #*+/400

v8l 144 *£./225

12 16 = 20
289 /225 #=./64 V225 /144 =./81
17 15 = 8
V36 /36  2/36 V16 V16 216
6 6 2 X6
3v25 V25 2425 316 V16 2416

3 x5 5 2 x5

Vi xv25 100

VO x4/25 /225

2 x5 10
12 = 2 6

Calculate the following expressions.

V3 x12 V2 x/8
V36 6

V2 x4/10 V3 x4/15
V20 245

VA8 =2 =z V60 /5
v2a 2 V6

VI2 =3 y2=3 | V2T +3
Va2

2v2x58 26xyx8 | 413x24/12
10v/16 40

w |
V24 246

Calculate the following expressions.

Ve V24 V3 V12
Ve 26

36

V10 V40 V6 V20
VIO 2 V10

3110

Va8 V12 V2 B
43 23

23

Vis V2 V2 VB
3v2 V2
2v2

2v18 V8 2v50 B2
2 x3v2 242

4v2°

e )| )
i va
6 x /7
VT x/7




Calculate the following expressions.
Fill in the blanks to complete the sentence.
2 3 3
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, v18 /18 V12 V312 /12
’’’’’’’’’’’’’’’’’’’’’’’’’’ . 3WV2 32
4
———————————————————————————————————————————————— 61/2
Ve Ve
2 1 v V20 /80 V10 /90
22 4 Va 25 45
3% 9 Y- 6v/5
V3 1 V3
——————————————— Va5 20 VA Viz
( ) e 2v5
Find the value of the following expressions.
5v/5
v18 V12
V2 <\ V3 <7
V/9x2 V/3%3x2
V16
3v2
4
V60 V40
VA4x15  4/2x2x15 VB4 =12 V24 =2
24/15 V32
V50 /90 4/2
V'25%2 V5%5%2
Sv2 Rationalize the denominator of the following expressions.
Calculate the following expressions.
1 1
3 VT
V144 V25 V64 /36
1 x \/5_
12 5 17 V5 x 6
v/169 144 1/100 v/36
V5
13 12 1 5
V25 /25 VB4 VB4 3 2
243 3v2
5 5 10 \/_ \/_
V25 x\/4_ \/9_ X\/4_ X \/3_
2v3 X 43
5 x2 10
V100 = 4 VBl =9 3v3 V3
6 2
10 = 2 5




